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= 12,000
S 8,400
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SCHTHOH O 2 (2R A LM/ THLHEE R - Q1))
oM 2 EHAH =Y che &
SH - B S9(3H) - NRAY - BES S S =
BN, 5,800 0 5,800
OZUMaHIZ DS 1,800
oLASY 600, 0002 23] 1,200
o NS 2HH| 300,000 23] 600
OZUHaHIY E22, MK MK S
1,000,0002 *43] 4,000
202 04t 704 704
01 20/t 704 704
=20f| At 704 704
OZEHMEHOILY dREX
88,0002 x2 21 %43 704
SN SAAH|(CHE ) (DIEHIIEH 40,624 38,888 1,736
=2 40,624 38,888 1,736
pIEETE] 40,624 38,888 1,736
201 et 34,824 33,168 1,656
01 AtR22lH| 29,424 28,368 1,056
=20f| At 29,424 28,368 1,056
OSNSAA(HFH2] L Lt
=) 400,000+ 122! 4,800
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